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1. log(𝑥 + 1) + log(𝑥 − 1) = 𝑙𝑜𝑔3 

 

2. log2(𝑥 + 2) − log2(𝑥 − 2) = 2 

 

3. 
log10 16

log10 4
= log10 𝑥 

 

4. log10(2𝑥) =
log 64

log 8
 

idOkh lrkAk 

 

5. 
2𝑛   + 2𝑛−1

2𝑛+1  −  2𝑛
=

3

2
 

 

6. log 2 + 2 log 5 = log 50 

 

7. 3
1

3 + 3−
1

3 = 𝑥 නම් 3𝑥3 − 9𝑥 − 10 = 0   nj idOkh lrkAk 

 

8. log(𝑎 + 𝑏) = log 𝑎 + log 𝑏  kï  𝑎 =
𝑏

𝑏−1
 nj idOkh lrkAk 

 

9. 𝑎𝑥 =b, 𝑏𝑦=c  yd 𝑐𝑧 = 𝑎 kï 𝑥𝑦𝑧 = 1 nj idOkh lrkAk 

 

úi|kAk 

 

10. 25𝑥−1 = 52𝑥−1 − 100  

 

11. 32𝑥−1 × 2𝑥+1 = 216 

 

12. 32𝑥+5 = 32𝑥+3 + 72 

 

13. 27𝑥 =
9

3𝑥
 

 

14. 3𝑥2+4𝑥 =
1

27
 

සබරගමුව පළාත් අධ්‍යාපන දෙපාර්තදේන්තුව  

සංයුක්ත ගණිතය - පුණරීක්ෂණ අභ්‍යාස 

12 දරේණිය -   

 

 


